CMR INSTITUTE OF TECHNOLOGY												
Internal Assessment Test – 1 November 2024 Solutions												
Sub	ub: Mathematics-I for Electrical & Electronics Engineering Stream Code:							Code:	BN	BMATE101		
Date	e: 19/11/2024	Duration:	90 mins	Max Marks:	50	Sem:	Ι	Section:		M - P		
	Questi	on 1 is compu	lsory and A	Answer any 6 fr	om the r	emaining	g ques	stions.				
									Marks	OB CO	E RBT	
1. With usual notations prove that $\tan \phi = r \frac{d\theta}{dr}$							[8]	CO1	L2			
2. Find the rank of the matrix $\begin{bmatrix} 2 & 1 & -1 & 3 \\ 1 & 2 & 4 & 3 \\ 3 & 6 & 12 & 9 \\ 3 & 3 & 3 & 6 \end{bmatrix}$							[7]	CO5	L3			
3. Solve the system of equations by Gauss elimination method 3x + y + 2z = 3, 2x - 3y - z = -3, x + 2y + z = 4						[7]	CO5	L2				
4. Solve the system of equations using Gauss – Seidel method by taking (0,0,0) as an initial approximate root $2x - 3y + 20z = 25$, $20x + y - 2z = 17$, $3x + 20y - z = -18$						[7]	CO5	L2				

5.	Using Rayleigh's power method find the dominant eigenvalue and the corresponding eigenvector of by taking $\begin{bmatrix} 1 & 0 & 0 \end{bmatrix}^T$ as the initial eigenvector. $\begin{bmatrix} 4 & 1 & -1 \\ 2 & 3 & -1 \\ -2 & 1 & 5 \end{bmatrix}$	[7]	C05	L2
6.	Find the angle between the curves $r^2 \sin 2\theta = 4$ and $r^2 = 16 \sin 2\theta$		CO1	L2
7.	Find the pedal equation of the curve $r = a \left(e^{\theta \cot \alpha} \right)$		CO1	L3
8.	Expand $e^{\sin x}$ by Maclaurin's series up to the term containing x^4		CO2	L2

$$\Rightarrow \frac{dy}{dx} = \frac{\frac{dy}{dx}}{\frac{dy}{dx}}$$

$$= \frac{dy}{dx} \sin \theta + (ax) \theta \cdot 7$$

$$= \frac{dy}{dx} \sin \theta + (ax) \theta \cdot 7$$

$$= \frac{dy}{dx} \sin \theta + \frac{(ax) \theta \cdot 7}{dx}$$

$$= \frac{dy}{dx} \sin \theta + \frac{(ax) \theta \cdot 7}{dx}$$

$$= \frac{dy}{dx} \cos \theta + \frac{(ax) \theta \cdot 7}{dx}$$

$$= \frac{dy}{dx} \cos \theta + \frac{y}{d\theta} \frac{dy}{d\theta}$$

$$= \frac{tan \theta + 7 \cdot \frac{d\theta}{dx}}{1 - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + 7 \cdot \frac{d\theta}{dx}}{1 - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + 7 \cdot \frac{d\theta}{dx}}{1 - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + 7 \cdot \frac{d\theta}{dx}}{t - tan \theta + \frac{y}{d\theta}}$$

$$= \frac{tan \theta + \frac{y}{d\theta}}{t - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + \frac{y}{d\theta}}{t - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + \frac{y}{d\theta}}{t - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + \frac{y}{d\theta}}{t - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + \frac{y}{d\theta}}{t - tan \theta \cdot \frac{y}{d\theta}}$$

$$= \frac{tan \theta + \frac{y}{d\theta}}{t - tan \theta \cdot \frac{y}{d\theta}}$$

$$\begin{aligned}
\mathbf{A}_{n} = \begin{bmatrix}
\mathbf{A}_{n} & 1 & -1 & 3 \\
1 & 2 & 4 & 3 \\
3 & 6 & 12 & 9 \\
3 & 3 & 3 & 6
\end{aligned}$$

$$\mathbf{F}_{n} \leftarrow \mathbf{F}_{n} = \begin{bmatrix}
\mathbf{F}_{n} & 1 & -1 & 3 \\
3 & 6 & 12 & 9 \\
3 & 3 & 3 & 6
\end{aligned}$$

$$\begin{aligned}
\mathbf{F}_{n} \leftarrow \mathbf{F}_{n} = \begin{bmatrix}
\mathbf{F}_{n} & 2 & 4 & 3 \\
2 & 1 & -1 & 3 \\
3 & 6 & 12 & 9 \\
3 & 3 & 6 & 12
\end{aligned}$$

$$\mathbf{F}_{n} \rightarrow 2\mathbf{E}_{1} - \mathbf{E}_{2} , \mathbf{F}_{2} \rightarrow 3\mathbf{E}_{1} - \mathbf{E}_{3} , \mathbf{E}_{4} \rightarrow 3\mathbf{E}_{1} - \mathbf{E}_{4} \\
\begin{bmatrix}
1 & 2 & 4 & 3 \\
0 & 3 & 9 & 3 \\
0 & 0 & 0 & 0 \\
0 & 3 & 9 & 3
\end{aligned}$$

$$\mathbf{F}_{n} \rightarrow \mathbf{F}_{2} - \mathbf{F}_{4} \\
\begin{bmatrix}
1 & 2 & 4 & 3 \\
0 & 3 & 9 & 3 \\
0 & 0 & 0 & 0 \\
0 & 0 & 0 & 0
\end{aligned}$$

$$\begin{aligned}
\mathbf{F}_{n} (\mathbf{A}) = 2 \\
\mathbf{F}_{and k}
\end{aligned}$$

$$\begin{cases}
3. \quad 3n+y+2z=3 \\
2n-3y-z=z=3 \\
n+2y+z=4 \\
\begin{cases}
3 \quad 1 \quad 2 \quad 1 \quad 3 \\
2 \quad -3 \quad -1 \quad 1 \quad -3 \\
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
2 \quad -3 \quad -1 \quad 2 \quad -3 \\
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
2 \quad -3 \quad -1 \quad 2 \quad -3 \\
\end{cases}$$

$$\begin{array}{l}
R_{1} \leftarrow R_{2} \\
\left[\begin{array}{c}
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
2 \quad -3 \quad -1 & 2 & -3 \\
3 \quad 1 \quad 2 \quad 2 & 3 \\
\end{array}$$

$$\begin{array}{l}
R_{2} \rightarrow 2R_{1} - R_{2} \quad r \quad R_{3} \rightarrow 3R_{1} - R_{3} \\
\left[\begin{array}{c}
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
0 \quad 7 \quad 3 \quad 2 \quad 11 \\
0 \quad 5 \quad 1 \quad 2 & 4 \\
\end{array}$$

$$\begin{array}{l}
R_{3} \rightarrow \quad 5R_{2} - 7R_{3} \\
\left[\begin{array}{c}
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
0 \quad 7 \quad 3 \quad 2 \quad 11 \\
0 \quad 5 \quad 1 \quad 2 & 4 \\
\end{array}$$

$$\begin{array}{l}
R_{3} \rightarrow \quad 5R_{2} - 7R_{3} \\
\left[\begin{array}{c}
1 \quad 2 \quad 1 \quad 2 \quad 4 \\
0 \quad 7 \quad 3 \quad 2 \quad 11 \\
0 \quad 0 \quad 9 \quad 2 & -9 \\
\end{array}$$

$$\begin{array}{l}
R_{2} \rightarrow 2R_{1} - R_{2} \quad r \quad R_{3} \rightarrow 3R_{1} - R_{3} \\
R_{3} \rightarrow \quad 5R_{2} - 7R_{3} \\
\end{array}$$

$$\begin{array}{l}
R_{4} \rightarrow 2Y + Z = 4 \quad n + y - z^{-1} \\
TY + 3Z = 11 \quad TY - 3z^{-1} \\
Y = 2 \quad -Y \\
\end{array}$$

$$A. 2x - 3y + 20z = 25$$

$$20x + y - 2z = 17 \rightarrow 3x + 20y - z = -18$$

$$2x - 3y + 20y - z = -18$$

$$2x - 3y + 20y - z = -18$$

$$2x - 3y + 20z = 235$$

$$x_1 = \frac{1}{a_1} (d_1 - a_1y - a_1z)$$

$$y_1 = \frac{1}{b_2} (d_2 - b_1 x - b_3 z)$$

$$z_1 = \frac{1}{c_3} (d_3 - c_1x + c_1y)$$

$$z_1 = \frac{1}{c_3} ((17 - y + 2z)) = \frac{1}{20} ((17 - 0 + 0)) = \frac{17}{20} = 0.95$$

$$y_1 = \frac{1}{c_3} ((17 - y + 2z)) = \frac{1}{20} (-18 - 3x + 2z) = \frac{1}{20} (-19 - 3(0055) + 0) = -1.0275$$

$$z_1 = \frac{1}{20} (25 - 2x + 3y) = \frac{1}{20} (25 - 2(0.35) + 3(-10275)) = 1.0$$

$$A_1 = \frac{1}{20} ((17 + 1.0275 + 2(1.01))) = 1.002y.$$

$$A_2 = \frac{1}{20} (-18 - 3(002) + 1.01) = -0.999y.$$

$$Y_1 = \frac{1}{20} (-19 - 3(002) + 1.01) = -0.999y.$$

$$A_2 = \frac{1}{20} (25 - 2(1.002) + 3(-0.999)) = 0.999y.$$

$$A_3 = \frac{1}{20} (25 - 2(1.002) + 3(-0.999)) = 0.999y.$$

$$A_4 = \frac{1}{20} (25 - 2(1.002) + 3(-0.999)) = 0.999y.$$

$$AX_{c} = \begin{bmatrix} 4+1.99+0.91\\ 2+2.97+0.99\\ -2+0.99-4.95 \end{bmatrix} = \begin{bmatrix} 5.98\\ 5.9c \end{bmatrix} = \underbrace{5.9}_{\lambda_{T}} \underbrace{5.9}_{-0.91} \underbrace{1}_{\lambda_{T}} x_{T}$$

hung rayleigh's power method,
dominant eigen value(λ) = 5.93
eigen weeltri(λ) = $\begin{bmatrix} 1\\ 0.99\\ -0.99 \end{bmatrix}$

* Angle Lettmeen curves;
1² sin 20 = 4 -0
2r dr-sin 20 + 2 cos 20 · r² 0

$$\frac{1}{d\theta}$$

 $\frac{1}{d\theta}$
 $\frac{1}{d\theta}$
 $\frac{1}{d\theta}$
 $\frac{1}{d\theta}$
 $\frac{1}{r}$
 $\frac{1}{r}$

equating eq " O and O $r^2 = \frac{4}{3 \ln 2\theta}$, $r^2 = 16 \sin 2\theta$ $\frac{4}{\sin 20} = 16 \sin 20$ $\frac{1}{1}\frac{y}{16} = \sin^2 2\theta$ $\int \frac{1}{3} = \int \frac{1}{51h^2 2\theta}$ $\frac{1}{2} = \sin 2\theta$ made between summer, $\therefore \sin \pi = \frac{1}{2}$ T = 20 0 0 0 0 - 4 2 0 0 - $\Theta = \frac{\pi}{12}$: Angle between both crumes $= 40 = 4 \times \frac{\pi}{42} = \frac{\pi}{3} / \frac{\pi}{42}$ 1 dr = - 6426 HAT - WELL 85 hz = 1 to 1 6 = - 00+ 25 9 = 20 al between both curron in The date a = 104-1 = 105-05-1 =

$$Jr = \alpha(e^{\phi \cot x})$$

$$r = \alpha e^{\phi \cot x} \qquad (1)$$

$$diff \quad \omega \cdot r \text{ to } \theta'$$

$$\frac{dr}{d\theta} = \alpha \cdot e^{\phi \cot x} \cdot \cot x$$

$$\frac{1}{r} \frac{dr}{d\theta} = \frac{(\alpha \cot x) e^{\phi \cot x}}{(\theta)}$$

$$\Rightarrow \frac{1}{r} \frac{dr}{d\theta} = \frac{(\alpha \cot x) e^{\phi \cot x}}{\alpha e^{\phi \cot x}}$$

$$\Rightarrow \cot \phi = \cot x$$

$$\Rightarrow \phi = x$$

$$WKT, \qquad p = r \sin \phi$$

$$p = r \sin x$$

S. Macdamin's series

$$P(n) = + 1(s) + \frac{n}{11} + 1(s) + \frac{n^2}{2!} + 1(s) + \frac{n^3}{2!} + 1(s) + \frac{n}{4!} + \frac{1}{5}(s)$$

$$P(n) = \frac{1}{1!} + \frac{1$$

CMR